
Funkce

Vzorce pro logaritmy

loga (x
n) = n. loga (x) (1)

loga (x) + loga (y) = loga (x.y) (2)

loga (x)− loga (y) = loga

(
x

y

)
(3)

loga

(
n
√

x
)
=

1
n

loga (x) (4)

Důkaz. (1)
Podle definice logaritmu obdržíme:
an. loga(x) = xn(

aloga(x)
)n

= xn

(x)n = xn

Důkaz. (2)
Podle definice logaritmu obdržíme:
aloga(x)+loga(y) = x.y
aloga(x).aloga(y) = x.y
x.y = x.y

Důkaz. (3)
Podle definice logaritmu obdržíme:
aloga(x)−loga(y) =

x

y
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x

y
x

y
=

x

y

Důkaz. (4)
Podle definice logaritmu obdržíme:
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